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Consumption function

� Given the utility function
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and the lifetime budget constraint
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� the maximization problem can be written as
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Consumption function

� This long equation simpli�es to
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and we get the consumption function
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Savings function

� Savings is de�ned as
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Aggregate savings

� Summing over the N(t) members of generation t, we get

St(�) �
N(t)X
h=1

sht (�)

=

N(t)X
h=1

�
�wth

h
t (t)

(� + 1)
� wt+1h

h
t (t+ 1)

(� + 1) rt

�
St =

�wtHt(t)

(� + 1)
� wt+1Ht(t+ 1)

(� + 1) rt

Equilibrium

� In equilibrium,
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Equilibrium

� Substituting the wage and rental conditions into the St = K(t+ 1) equi-
librium condition gives
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and this simpli�es to
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